# ML 16 Direct and Necessary Agency Cost Calculator

	<u> </u>				
	FY15 Shared Services Budget		FY14 Approp & Dedicated Revenue Budget	FY12-FY14 Average Allotments	Cost Per
People Support: FY15 HR Budget/2013-14 March/March FTE	\$3,303,803	2,270			\$1,455
Safety Support: FY15 Safety Budget/2013-14 March/March FTE	\$779,134	2,270			\$343
Financial Support: Source: FY15 OMBS Budget/FY14 Appropriated & Dedicated Revenue Budget	\$5,083,306		\$362,033,376		\$0.014
Communication Support: FY15 OCO Budget/2014 Allotments	\$3,094,411			2,503	\$1,236
<b>Computer Support</b> : FY14-15 MN.IT Services @ DNR SLA Budget (Governance Subtotal + IT Server Initiative/2013-14 March/March FTE)	\$6,342,862	2,270			\$2,794
Planning Services: FY15 Planning Budget/2014 Allotments	\$2,074,019			2,503	\$ 829
Procurement Support: FY15 Procurement Budget/2014 Allotments	\$588,678			2,503	\$235

## ML 16 Direct and Necessary Division Support Costs

Division business office and clerical support salary and fringe/division program costs = cost per \$

Division	Cost Per
	Dollar
Ecol. Water Resource	.0200
Forestry	.0109
Parks and Trails	.0162
Fish and Wildlife	.0148
Lands and Minerals	.0353

### **DNR Direct & Necessary Cost Calculator**

#### ML16 ENRTF and OHF Proposals - Subtractive Model

Updated April 1, 2015

Fill in yellow cells to calculate services your program needs. All other cells are formulaic and locked.

Division: FAW

Project Title: Sentinel Lakes Monitoring and Data Synthes

Funding																	
Request	Fee Title or															1	
(including	Easement	Pass-through	Single-source	All Other			Metric	Number of								1	
D&N)	Acquisition	Grants	Contract	Costs		Metric	Value	Units	Т	otal D&N		Personnel Necessary to Support Proposal					
												FTE's	Years	User ID's	Years	FTE-Year	User I
\$ 401,000				\$ 372,813	People Support	FTE	\$ 1,455	4	\$	5,820	<b>Position Title</b>	Funded	Funded	Required	Funded	Units	Units
					Safety Support	FTE	\$ 34	8 4	\$	1,372	NR Specialist	2	2	2	2	4	
					Financial Support	All Other Costs	\$ 0.014	\$372,813	\$	5,219						0	
					Communication Support	Allotments	\$ 1,236	2	\$	2,472						0	
					IT Support	IT User ID	\$ 2,794	4	\$	11,176						0	
					Planning Support	Allotments	\$ 82	9 2	\$	1,658						0	
					Procurement Support	Allotments	\$ 23	i 2	\$	470						0	
					Division Direct (project)	Cost/dollar (.0148)			\$	-						0	
					Division Direct (program)	Cost/dollar (.0475			\$	-				SUM:		4	
						Total Direct & Necessary: \$ 28,187											
						Project Costs before Direct and Necessary \$ 372,813				Number of Allot	tments Req	uire		2			
							Tota	al Project Costs	:\$	401,000							

#### Notes on calculations

People Support: FY15 HR Budget/2013-14 March/March FTE

Safety Support: FY15 Safety Budget/2013-14 March/March FTE

Financial Support: Source: FY15 OMBS Budget/FY14 Appropriations & Dedicated Revenue Budget

Communication Support: FY15 OCO Budget/2014 Allotments

Computer Support: FY15 MN.IT Services @ DNR SLA Budget (Governance Subtotal + IT Server Initiative/2013-14 March/March FTE)

Planning Services: FY15 Planning Budget/2014 Allotments

Procurement Support: FY15 Procurement Budget/2014 Allotments

Division Support: Cost/dollar (from D&N Cost Analysis)











(5)

### Financial Management

- Procurement purchasing of supplies and equipment
- Contract Administration RFP development, bids, awards, sole source certifications, encumbrance, SWIFT management
- Accounts Payable p-cards, travel, invoice payment for supplies, equipment, contracts
- Budget BPAS and SWIFT set up, year end close out, project close out, spending plan certification, expenditure monitoring and oversight
- Reporting standard and ad-hoc reports
- Internal Audit Internal grant management audits, OLA facilitation







4









6



(13)

## • OMB Circular A-87/Super Circular

- Encouraging efficient use of information technology and shared services;
- Outlines federal process to approve indirect costs allocation to ensure costs are allowable/necessary and a fair distribution of costs.
- Requires that costs incurred for the same purpose in like circumstances must be treated consistently as either direct or indirect costs
- Prohibits charging federal programs a disproportionate share of costs or risk losing federal funds.



7











